

Positive Solution for Nonlinear Higher Order $(k, n-k)$ Conjugate Boundary Value Problem

Lingbin Kong*, Tao Lu

Northeast Petroleum University, School of Mathematical and Statistics, Heilongjiang, Daqing, 163318, PR China

*Corresponding Author:

Lingbin Kong

Email: klbindq@126.com

Abstract: The nonlinear $(k, n-k)$ conjugate boundary value problem

$$(-1)^{n-k} y^{(n)}(x) = f(x, y(x)), y^{(i)}(0) = y^{(j)}(1) = 0, 0 \leq i \leq k-1, k \leq j \leq n-1,$$

is studied in this paper, where $0 < x < 1, n \geq 1, 0 < k < n$. The upper and lower boundary of the Green's function and derivative estimate are given, the existence result of positive solution for the problem is proved by using Krasnoselskii fixed point theorem in cones.

Keywords: the conjugate boundary problem, positive solution, the fixed point theorem

1. INTRODUCTION

In recent years, positive solutions for nonlinear higher order $(k, n-k)$ conjugate boundary value problem

$$(-1)^{n-k} y^{(n)}(x) = f(x, y(x)), 0 < x < 1, n \geq 1, 0 < k < n \quad (1.1)$$

$$y^{(i)}(0) = y^{(j)}(1) = 0, 0 \leq i \leq k-1, 0 \leq j \leq n-k-1 \quad (1.2)$$

has been studied extensively. Many authors established existence results of positive solutions where the nonlinear term is nonnegative continuous and meet superlinear or sublinear [1–16]. When the nonlinear term is negative value or changes number, the boundary value problem (1.1), (1.2) come more from the chemical reaction problem, some authors consider the conjugate boundary value problem (1.1), (1.2), and get some results [19–22].

This paper deals with the following nonlinear $(k, n-k)$ conjugate boundary value problem

$$(-1)^{n-k} y^{(n)}(x) = f(x, y(x)), 0 < x < 1, n \geq 1, 0 < k < n \quad (1.3)$$

$$y^{(i)}(0) = y^{(j)}(1) = 0, 0 \leq i \leq k-1, k \leq j \leq n-1 \quad (1.4)$$

The condition of boundary problem (1.3), (1.4) in $x=1$ is different from boundary value problem (1.1), (1.2). Our purpose is to construct the Green's function $G(x, s)$ of conjugate boundary value problem (1.3), (1.4), and establish the existence result of positive solution to the problem by using Krasnoselskii fixed point theorem in cones.

$G(x, s)$ is called Green's function of nonlinear higher order $(k, n-k)$ conjugate boundary value problem (1.3), (1.4), if it satisfies

$$(-1)^{n-k} G^{(n)}(x, s) = \delta(x-s), 0 < x < 1, 0 < s < 1,$$

$$G^{(i)}(0, s) = G^{(j)}(1, s) = 0, 0 \leq i \leq k-1, k \leq j \leq n-1$$

where $G^{(m)}(x, s) = \frac{\partial^m G(x, s)}{\partial x^m}$, and $\delta(x)$ is the Dirac δ function.

The function $y(x)$ is called the positive solution of the boundary value problem (1.3), (1.4), if it satisfies $y(x) \in C^{n-1}(0, 1] \cap C^{k-1}[0, 1)$ and (1.3), (1.4) hold.

Our assumptions are as follows:

$(H_1)h(x)$ is nonnegative continuous for $x \in (0,1)$, and $0 < \int_0^1 \frac{g(s)}{s} h(s) ds < +\infty$;

$(H_2)f(y)$ is nonnegative continuous for $[0,+\infty)$,

where $g(x) = \frac{x^{n-k}}{(k-1)!(n-k-1)!}$

The main results for this paper are as follows.

Theorem 1 Assume that $G(x, s)$ is the Green's function of the conjugate boundary value problem (1.3), (1.4), then

$$G(x, s) = \begin{cases} \frac{1}{(k-1)!(n-k-1)!} \int_0^s u^{n-k-1} (u+x-s)^{k-1} du, & s \leq x \\ \frac{1}{(k-1)!(n-k-1)!} \int_0^x u^{k-1} (u-x+s)^{n-k-1} du, & x \leq s \end{cases}$$

and

$$\alpha(x)g(s) \leq G(x, s) \leq \beta(x)g(s)$$

$$\left| \frac{\partial G(x, s)}{\partial x} \right| \leq \frac{(n-1)x^{k-1}}{s^2} g(s)$$

where

$$\alpha(x) = \frac{x^k}{n-1}, \beta(x) = \frac{x^{k-1}}{\min\{k, n-k\}}.$$

Theorem 2 Assume that $(H_1), (H_2)$ hold, then the nonlinear conjugate boundary value problem (1.3) and (1.4)

has at least one positive solution $y(x) \in C^{n-1}(0,1] \cap C^{k-1}[0,1)$,

if the following conditions is satisfies

(i) $f_0 = 0, f_\infty = +\infty$ 或 (ii) $f_0 = +\infty, f_\infty = 0$

where $f_0 = \lim_{y \rightarrow 0} \frac{f(y)}{y}, f_\infty = \lim_{y \rightarrow \infty} \frac{f(y)}{y}$.

To establish the results of Theorem 2, We require the following Krasnoselskii Cone fixed point theorem.

Theorem 3 Let E be a Banach space, and let $K \subset E$ be a cone in E . Assume Ω_1, Ω_2 are open subsets of E with $0 \in \Omega_1, \bar{\Omega}_1 \subset \Omega_2$ and let $\Phi: K \cap (\bar{\Omega}_2 \setminus \Omega_1) \rightarrow K$ be a completely continuous operator such that either

(1) $\|\Phi u\| \leq \|u\|, u \in K \cap \partial\Omega_1$, and $\|\Phi u\| \geq \|u\|, u \in K \cap \partial\Omega_2$; or

(2) $\|\Phi u\| \geq \|u\|, u \in K \cap \partial\Omega_1$, and $\|\Phi u\| \leq \|u\|, u \in K \cap \partial\Omega_2$,

then Φ has a fixed point in $K \cap (\bar{\Omega}_2 \setminus \Omega_1)$.

2.GREEN'S FUNCTION STRUCTURE

In this section, we structure the Green's function of nonlinear higher order $(k, n-k)$

conjugate boundary value problem (1.3), (1.4), and prove the conclusion of theorem 1 is right. Let

$$G(x, s) = \begin{cases} \frac{(-1)^{n-k} (x-s)^{n-1}}{(n-1)!} + \sum_{m=0}^{n-1} \frac{a_m}{m!} x^m, & s \leq x \\ \sum_{m=0}^{n-1} \frac{a_m}{m!} x^m, & x \leq s \end{cases} \quad (2.1)$$

where $a_m = a_m(s)$, $0 \leq m \leq n-1$ are undetermined coefficients, so for each fixed s , $G(x, s)$ is continuously differentiable function about x under $n-2$ order. And

$$G^{(n-1)}(x, s) = \begin{cases} (-1)^{n-k} + a_{n-1}, & s < x \\ a_{n-1}, & x < s \end{cases}$$

therefore $(-1)^{n-k} G^{(n)}(x, s) = \delta(x-s)$ for all x and s .

Next, determined the coefficient a_m , $0 \leq m \leq n-1$, make $G(x, s)$ satisfied condition of $G^{(i)}(0, s) = G^{(j)}(1, s) = 0$, $0 \leq i \leq k-1, k \leq j \leq n-1$. From

$$G^{(i)}(0, s) = 0, 0 \leq i \leq k-1,$$

we get $a_m = 0, 0 \leq m \leq k-1$. Then by $G^{(j)}(1, s) = 0, k \leq j \leq n-1$, the following equations can be obtained

$$\begin{cases} (n-k-1)!a_k + \frac{(n-k-1)!}{1!}a_{k+1} + \dots + \frac{(n-k-1)!}{(n-k-2)!}a_{n-2} + a_{n-1} = (-1)^{n-k-1}(1-s)^{n-k-1} \\ (n-k-2)!a_{k+1} + \frac{(n-k-2)!}{1!}a_{k+2} + \dots + \frac{(n-k-2)!}{(n-k-3)!}a_{n-2} + a_{n-1} = (-1)^{n-k-1}(1-s)^{n-k-2} \\ \dots\dots\dots \\ 2!a_{n-3} + \frac{2!}{1!}a_{n-2} + a_{n-1} = (-1)^{n-k-1}(1-s)^2 \\ a_{n-2} + a_{n-1} = (-1)^{n-k-1}(1-s) \\ a_{n-1} = (-1)^{n-k-1} \end{cases}$$

The following use Cramer's method to solve $a_m, k \leq m \leq n-1$, since

$$D = \begin{vmatrix} (n-k-1)! & \frac{(n-k-1)!}{1!} & \frac{(n-k-1)!}{2!} & \dots & \frac{(n-k-1)!}{(n-k-2)!} & 1 \\ 0 & (n-k-2)! & \frac{(n-k-2)!}{1!} & \dots & \frac{(n-k-2)!}{(n-k-3)!} & 1 \\ \dots & \dots & \dots & \dots & \dots & \dots \\ 0 & 0 & 0 & 2! & \frac{2!}{1!} & 1 \\ 0 & 0 & 0 & 0 & 1! & 1 \\ 0 & 0 & 0 & 0 & 0 & 1 \end{vmatrix} = \prod_{i=1}^{n-k-1} i!$$

$$D_{k-1+j} = (-1)^{n-k-1} \times$$

$(n-k-1)!$	$\frac{(n-k-1)!}{1!}$	$\frac{(n-k-1)!}{1!}$...	$(1-s)^{n-k-1}$...	$\frac{(n-k-1)!}{(n-k-2)!}$	1
0	$(n-k-2)!$	$\frac{(n-k-2)!}{1!}$...	$(1-s)^{n-k-2}$...	$\frac{(n-k-2)!}{(n-k-3)!}$	1
...
0	0	$(n-k-j+1)!$...	$(1-s)^{n-k-j+1}$...	$\frac{(n-k-j+1)!}{(n-k-j)!}$	1
...	$(1-s)^{n-k-j}$...	$\frac{(n-k-j)!}{(n-k-j-1)!}$	1
...
0	0	0	...	$1-s$...	1!	1
0	0	0	...	1	...	0	1

$= (-1)^{n-k-1} \prod_{i=n-k-j+1}^{n-k-1} i! \times$

$(1-s)^{n-k-j}$	$\frac{(n-k-j)!}{1!}$	$\frac{(n-k-j)!}{2!}$...	$\frac{(n-k-j)!}{(n-k-j-2)!}$	$\frac{(n-k-j)!}{(n-k-j-1)!}$	1
$(1-s)^{n-k-j-1}$	$(n-k-j-1)!$	$\frac{(n-k-j-1)!}{1!}$...	$\frac{(n-k-j-1)!}{(n-k-j-3)!}$	$\frac{(n-k-j-1)!}{(n-k-j-2)!}$	1
$(1-s)^{n-k-j-2}$	0	$(n-k-j-2)!$...	$\frac{(n-k-j-2)!}{(n-k-j-4)!}$	$\frac{(n-k-j-2)!}{(n-k-j-3)!}$	1
...
$(1-s)^2$	0	0	...	2!	$\frac{2!}{1!}$	1
$(1-s)$	0	0	...	0	1!	1
1	0	0	...	0	0	1

(The i row)

minus the $i+1$ row, in order to do so, $i = 1, 2, \dots, n-k-1$, then press column extracted common factor, and then the last column to expand)

$$= (-1)^{n-k-1} (-s)(n-k-j-1) \prod_{i=n-k-j+1}^{n-k-1} i! \times$$

$(1-s)^{n-k-j-1}$	$\frac{(n-k-j-1)!}{1!}$	$\frac{(n-k-j-1)!}{2!}$...	$\frac{(n-k-j-1)!}{(n-k-j-3)!}$	$\frac{(n-k-j-1)!}{(n-k-j-2)!}$	1	(According to
$(1-s)^{n-k-j-2}$	$(n-k-j-2)!$	$\frac{(n-k-j-2)!}{1!}$...	$\frac{(n-k-j-2)!}{(n-k-j-4)!}$	$\frac{(n-k-j-2)!}{(n-k-j-3)!}$	1	
$(1-s)^{n-k-j-3}$	0	$(n-k-j-3)!$...	$\frac{(n-k-j-3)!}{(n-k-j-5)!}$	$\frac{(n-k-j-3)!}{(n-k-j-4)!}$	1	
...	
$(1-s)^2$	0	0	...	2!	$\frac{2!}{1!}$	1	
$1-s$	0	0	...	0	1!	1	
1	0	0	...	0	0	1	

the above method repeatedly to do so, to the determinant of reduced-order)

$$= (-1)^{n-k-1} (-s)^{n-k-j-1} \prod_{i=1, i \neq n-k-j}^{n-k-1} i! \begin{vmatrix} 1-s & 1 \\ 1 & 1 \end{vmatrix}$$

$$= (-1)^{n-k-1} (-s)^{n-k-j} \prod_{i=1, i \neq n-k-j}^{n-k-1} i!$$

By using Cramer's ruler, have

$$a_{k-1+j} = \frac{D_{k-1+j}}{D} = \frac{(-1)^{n-k-1} (-s)^{n-k-j}}{(n-k-j)!}, j = 1, 2, \dots, n-k$$

make $m = k - 1 + j$, then we get

$$a_m = (-1)^{n-k-1} \frac{(-s)^{n-m-1}}{(n-m-1)!}, m = k, k+1, \dots, n-1$$

Put a_m into (2.1) we can get

$$G(x, s) = \begin{cases} \frac{(-1)^{n-k} (x-s)^{n-1}}{(n-1)!} + \sum_{m=k}^{n-1} \frac{(-1)^{n-k-1} (-s)^{n-m-1} x^m}{m!(n-m-1)!}, & s \leq x \\ \sum_{m=k}^{n-1} \frac{(-1)^{n-k-1} (-s)^{n-m-1} x^m}{m!(n-m-1)!}, & x \leq s \end{cases}$$

$$= \begin{cases} \frac{(-1)^{n-k} (x-s)^{n-1}}{(n-1)!} + \sum_{i=0}^{n-k-1} \frac{(-1)^{n-k-1} (-s)^i x^{n-1-i}}{i!(n-1-i)!}, & s \leq x \\ \sum_{i=0}^{n-k-1} \frac{(-1)^{n-k-1} (-s)^i x^{n-1-i}}{i!(n-1-i)!}, & x \leq s \end{cases} \quad (2.2)$$

Following we transformed $G(x, s)$ into an integral formula, since

$$\sum_{i=0}^{n-k-1} \frac{(-1)^{n-k-1} (-s)^i x^{n-1-i}}{i!(n-1-i)!}$$

$$= \frac{(-1)^{n-k-1}}{(k-1)!(n-k-1)!} \sum_{i=0}^{n-k-1} \frac{(n-k-1)! (-s)^i x^{n-1-i} (k-1)!(n-k-1-i)!}{i!(n-k-1-i)!(n-1-i)!}$$

$$= \frac{(-1)^{n-k-1}}{(k-1)!(n-k-1)!} \sum_{i=0}^{n-k-1} \frac{(n-k-1)! (-s)^i x^{n-1-i}}{i!(n-k-1-i)!} \int_0^1 w^{k-1} (1-w)^{n-k-1-i} dw$$

$$\begin{aligned}
 &= \frac{(-1)^{n-k-1}}{(k-1)!(n-k-1)!} \int_0^1 x^k w^{k-1} \sum_{i=0}^{n-k-1} \frac{(n-k-1)!(-s)^i [x(1-w)]^{n-k-1-i}}{i!(n-k-1-i)!} dw \\
 &= \frac{(-1)^{n-k-1}}{(k-1)!(n-k-1)!} \int_0^1 x^k w^{k-1} [x(1-w)-s]^{n-k-1} dw \text{ (let } u = s - x(1-w) \text{)} \quad (2.3)
 \end{aligned}$$

$$\begin{aligned}
 &= \frac{1}{(k-1)!(n-k-1)!} \int_{s-x}^s u^{n-k-1} (u+x-s)^{k-1} du \\
 &= \frac{1}{(k-1)!(n-k-1)!} \left[\int_0^s u^{n-k-1} (u+x-s)^{k-1} du - \int_0^{s-x} u^{n-k-1} (u+x-s)^{k-1} du \right] \\
 &\text{(let } u = (s-x)v \text{ in the second term in equation)} \\
 &= \frac{1}{(k-1)!(n-k-1)!} \left[\int_0^s u^{n-k-1} (u+x-s)^{k-1} du - (-1)^{n-k} (x-s)^{n-1} \int_0^1 v^{n-k-1} (1-v)^{k-1} dv \right] \\
 &= \frac{1}{(k-1)!(n-k-1)!} \int_0^s u^{n-k-1} (u+x-s)^{k-1} du - \frac{(-1)^{n-k} (x-s)^{n-1}}{(n-1)!} \quad (2.4)
 \end{aligned}$$

where, the following result

$$\int_0^1 v^{n-k-1} (1-v)^{k-1} dv = \frac{(k-1)!(n-k-1)!}{(n-1)!}$$

is used. In addition, we know from (2.3)

$$\begin{aligned}
 &\sum_{i=0}^{n-k-1} \frac{(-1)^{n-k-1} (-s)^i x^{n-1-i}}{i!(n-1-i)!} \\
 &= \frac{1}{(k-1)!(n-k-1)!} \int_0^1 x^k w^{k-1} [(s-x(1-w))^{n-k-1} dw \text{ (let } t = x(1-w) \text{)} \\
 &= \frac{1}{(k-1)!(n-k-1)!} \int_0^x (x-t)^{k-1} (s-t)^{n-k-1} dt \text{ (let } u = x-t \text{)} \\
 &= \int_0^x u^{k-1} (u+s-x)^{n-k-1} du \quad (2.5)
 \end{aligned}$$

put (2.4), (2.5) into (2.1), we have

$$G(x, s) = \begin{cases} \frac{1}{(k-1)!(n-k-1)!} \int_0^s u^{n-k-1} (u+x-s)^{k-1} du, & s \leq x \\ \frac{1}{(k-1)!(n-k-1)!} \int_0^x u^{k-1} (u+s-x)^{n-k-1} du, & x \leq s \end{cases} \quad (2.6)$$

by using the binomial theorem in (2.6), we obtain

$$\begin{aligned}
 G(x, s) &= \begin{cases} \frac{1}{(k-1)!(n-k-1)!} \int_0^s u^{n-k-1} \sum_{i=0}^{k-1} \frac{(x-s)^i u^{k-1-i}}{i!(n-1-i)!} du, & s \leq x \\ \frac{1}{(k-1)!(n-k-1)!} \int_0^x u^{k-1} \sum_{i=0}^{n-k-1} \frac{(s-x)^i u^{n-k-1-i}}{i!(n-k-1-i)!} du, & x \leq s \end{cases} \\
 &= \begin{cases} \frac{1}{(k-1)!(n-k-1)!} \sum_{i=0}^{k-1} \frac{(x-s)^i s^{n-1-i} (k-1)!}{i!(k-1-i)!(n-1-i)!}, & s \leq x \\ \frac{1}{(k-1)!(n-k-1)!} \sum_{i=0}^{n-k-1} \frac{(s-x)^i x^{n-1-i} (n-k-1)!}{i!(n-k-1-i)!(n-1-i)!}, & x \leq s \end{cases}
 \end{aligned}$$

$$\begin{aligned} &\geq \begin{cases} \frac{1}{(k-1)!(n-k-1)!(n-1)} x^{k-1} s^{n-k}, s \leq x \\ \frac{1}{(k-1)!(n-k-1)!(n-1)} x^k s^{n-k-1}, x \leq s \end{cases} \\ &\geq \frac{x^{k-1} s^{n-k}}{(k-1)!(n-k-1)!(n-1)} = \alpha(x)g(s) \\ G(x, s) &\leq \begin{cases} \frac{s^{n-k} x^{k-1}}{(k-1)!(n-k-1)!(n-k)}, s \leq x \\ \frac{s^{n-k-1} x^k}{(k-1)!(n-k-1)!k}, x \leq s \end{cases} \\ &\leq \begin{cases} \frac{s^{n-k} x^{k-1}}{(k-1)!(n-k-1)!\min\{k, n-k\}}, s \leq x \\ \frac{s^{n-k-1} x^k}{(k-1)!(n-k-1)!\min\{k, n-k\}}, x \leq s \end{cases} \\ &= \begin{cases} \frac{x^{k-1} g(s)}{\min\{k, n-k\}}, s \leq x \\ \frac{x^k g(s)}{s \min\{k, n-k\}}, x \leq s \end{cases} \\ &\leq \frac{x^{k-1}}{\min\{k, n-k\}} g(s) = \beta(x)g(s) \end{aligned}$$

and hence

$$\alpha(s)g(s) \leq G(x, s) \leq \beta(x)g(s)$$

Other, when $s \leq x$, we have

$$\begin{aligned} \frac{\partial G(x, s)}{\partial x} &= \frac{1}{(k-1)!(n-k-1)!} \sum_{i=1}^{k-1} \frac{(k-1)!i(x-s)^{i-1} s^{n-1-i}}{i!(k-1-i)!(n-1-i)} \\ \left| \frac{\partial G(x, s)}{\partial x} \right| &\leq \frac{k-1}{(k-1)!(n-k-1)!(n-k)} \sum_{j=0}^{k-2} \frac{(k-2)!}{j!(k-2-j)!} (x-s)^j s^{k-2-j} x^{n-k} \\ &= \frac{k-1}{(k-1)!(n-k-1)!(n-k)} s^{n-k} x^{k-2} \\ &\leq \frac{n}{(k-1)!(n-k-1)!} s^{n-k} x^{k-2} \end{aligned}$$

when $x \leq s$, we have

$$\begin{aligned} \frac{\partial G(x, s)}{\partial x} &= \frac{1}{(k-1)!(n-k-1)!} \left[\sum_{i=1}^{n-k-1} \frac{-i(n-k-1)!(s-x)^{i-1} x^{n-1-i}}{i!(n-k-1-i)!(n-1-i)} + \sum_{i=0}^{n-k-1} \frac{(n-k-1)!(s-x)^i x^{n-2-i}}{i!(n-k-1-i)!} \right] \text{ thus} \\ \left| \frac{\partial G(x, s)}{\partial x} \right| &\leq \frac{1}{(k-1)!(n-k-1)!} \left[\sum_{j=0}^{n-k-2} \frac{(n-k-1)!(s-x)^j x^{n-k-2-j} x^k}{j!(n-k-2-j)!k} + s^{n-k-1} x^{k-1} \right] \\ &= \frac{1}{(k-1)!(n-k-1)!} \left[\frac{n-k-1}{k} s^{n-k-2} x^k + s^{n-k-1} x^{k-1} \right] \end{aligned}$$

$$\leq \frac{n}{(k-1)!(n-k-1)!} s^{n-k-1} x^{k-1}$$

therefore

$$\left| \frac{\partial G(x,s)}{\partial x} \right| \leq \begin{cases} \frac{n}{(k-1)!(n-k-1)!} s^{n-k} x^{k-2}, & s \leq x \\ \frac{n}{(k-1)!(n-k-1)!} s^{n-k-1} x^{k-1}, & x \leq s \end{cases}$$

$$\leq \frac{n}{(k-1)!(n-k-1)!} s^{n-k-1} x^{k-1} = \frac{nx^{k-1}g(s)}{s}$$

3. THE EXISTENCE OF POSITIVE SOLUTION

This section establish the positive solution of the conjugate boundary value problem (1.3), (1.4) and prove the conclusion of theorem 2.

Let $C[0,1]$ be the Banach space which consisting of all continuous functions in $[0,1]$, define a cone in $C[0,1]$ as following

$$K = \{y \in C[0,1]; y(x) \geq \alpha(x)\|y\|/\|\beta\|\}, \|\beta\| = \max_{x \in [0,1]} |\beta(x)| \quad (3.1)$$

Define a mapping $\Phi : C^+[0,1] \rightarrow C^+[0,1]$,

$$(\Phi y)(x) = \int_0^1 G(x,s)h(s)f(y(s)) \, ds$$

Lemma 1 $\Phi : K \rightarrow K$ is a completely continuous mapping.

Proof Let $y \in K$, we have from theorem 1

$$\begin{aligned} (\Phi y)(x) &\geq \alpha(x) \int_0^1 g(s)h(s)f(y(s)) \, ds \\ &\geq \frac{\alpha(x)}{\|\beta\|} \max_{x \in [0,1]} \beta(x) \int_0^1 g(s)h(s)f(y(s)) \, ds \\ &\geq \alpha(x)\|\Phi y\|/\|\beta\| \end{aligned}$$

That is to say $\Phi y \in K$

Let $K_N = \{y \in K; \|y\| \leq N\}$, $M = \max_{0 \leq y \leq N} f(y)$, for $y \in K_N$, we have by the theorem 1,

$$\|\Phi y\| \leq M \|\beta\| \frac{\alpha(x)}{\|\beta\|} \int_0^1 g(s)h(s) \, ds$$

This shows $\Phi(K_N)$ is bounded. According condition (H_1) and theorem 1, we obtain

$$\begin{aligned} |(\Phi y)'(x)| &\leq \int_0^1 \left| \frac{\partial G(x,s)}{\partial x} \right| h(s)f(y(s)) \, ds \\ &\leq Mnx^{k-1} \int_0^1 \frac{g(s)}{s} h(s) \, ds \end{aligned}$$

where $q = Mn \int_0^1 \frac{g(s)}{s} h(s) \, ds$, therefore

$$\int_0^1 |(\Phi y)'(x)| \, dx \leq q \int_0^1 x^{k-1} \, dx = \frac{q}{k}$$

This shows $\Phi(K_N)$ is a compact set in K . From continuity of $f(y)$, easily know Φ is a continuous mapping, from Ascoli–Arzela theorem, Φ is a completely continuous operator.

Now, we prove the theorem 2. First we prove the case (i).

Since $f_0 = 0$, there exists a $r > 0$ such that $f(y) \leq \varepsilon y$ for $0 < y < r$, where $\varepsilon > 0$

satisfies $\varepsilon \|\beta\| \int_0^1 g(s)h(s) \, ds \leq 1$

Let $K_r = \{y \in C[0,1]; \|y\| < r\}$, for $y \in K \cap \partial K_r$,

$$\|\Phi y\| \leq \varepsilon r \|\beta\| \int_0^1 g(s)h(s) \, ds \leq r = \|y\|$$

this shows $\|\Phi y\| \leq \|y\|$, $y \in K \cap \partial K_r$,

Further, Since $f_\infty = +\infty$, there exist $R > r > 0$ such that $f(y) \geq My$ for $y \geq RA(\sigma)$, where

$$A(\sigma) = \frac{1}{\|\beta\|} \min_{x \in [\sigma, 1-\sigma]} \alpha(x), \sigma \in (0, \frac{1}{2})$$

and $M > 0$ satisfies $MA(\sigma) \min_{x \in [\sigma, 1-\sigma]} \alpha(x) \int_\sigma^{1-\sigma} g(s)h(s) \, ds \geq 1$

Let $K_R = \{y \in C[0,1]; \|y\| < R\}$, for $y \in K \cap \partial K_R$, we have from (3.1)

$$\min_{x \in [\sigma, 1-\sigma]} y(x) \geq \min_{x \in [\sigma, 1-\sigma]} \alpha(x) \|y\| / \|\beta\| = A(\sigma) \|y\| = RA(\sigma)$$

thus

$$\begin{aligned} \|\Phi y\| &\geq \min_{x \in [\sigma, 1-\sigma]} \alpha(x) \int_\sigma^{1-\sigma} g(s)h(s)f(y(s)) \, ds \\ &\geq MRA(\sigma) \min_{x \in [\sigma, 1-\sigma]} \alpha(x) \int_\sigma^{1-\sigma} g(s)h(s) \, ds \geq R = \|y\| \end{aligned}$$

this shows $\|\Phi y\| > \|y\|$ for $y \in K \cap \partial K_R$, and from theorem 3 that Φ has a fixed point in $y \in K \cap (\overline{K_R} \setminus K_r)$. First prove situation

Next we prove the case (ii). Since $f_0 = \infty$, we can choose $r > 0$ such that $f(y) \geq My$ for $0 < y \leq r$, where M

satisfies $MA(\sigma) \min_{x \in [\sigma, 1-\sigma]} \alpha(x) \int_\sigma^{1-\sigma} g(s)h(s) \, ds \geq 1$.

For $y \in K \cap \partial K_r$, we have

$$\begin{aligned} \|\Phi y\| &\geq \min_{x \in [\sigma, 1-\sigma]} \alpha(x) \int_\sigma^{1-\sigma} g(s)h(s)f(y(s)) \, ds \\ &\geq M \min_{x \in [\sigma, 1-\sigma]} \alpha(x) \int_\sigma^{1-\sigma} g(s)h(s)y(s) \, ds \\ &\geq MrA(\sigma) \min_{x \in [\sigma, 1-\sigma]} \alpha(x) \int_\sigma^{1-\sigma} g(s)h(s) \, ds \geq r = \|y\| \end{aligned}$$

and hence $\|\Phi y\| \geq \|y\|$ for $y \in K \cap \partial K_r$,

Further, since $f_\infty = 0$, there exist $R_0 > r > 0$ such that $f(y) \leq \varepsilon y$ for $y \geq R_0$, where

$\varepsilon > 0$ satisfies $\varepsilon \|\beta\| \int_0^1 g(s)h(s) \, ds \leq 1$. Let

$$R = \frac{\|\beta\| \max_{0 \leq y \leq R_0} f(y) \int_0^1 g(s)h(s) \, ds}{1 - \varepsilon \|\beta\| \int_0^1 g(s)h(s) \, ds} + R_0$$

then we have for $y \in K \cap K_R$

$$\begin{aligned} & \|\Phi y\| \leq \|\beta\| \int_0^1 g(s)h(s)f(y(s)) \, ds \\ & \leq \|\beta\| \left[\int_{0 \leq y(s) \leq R_0} g(s)h(s)f(y(s)) \, ds + \int_{R_0 \leq y(s) \leq R} g(s)h(s)f(y(s)) \, ds \right] \\ & \leq \|\beta\| \left(\max_{0 \leq y \leq R_0} f(y) + \varepsilon R \right) \int_0^1 g(s)h(s) \, ds \leq R = \|y\| \end{aligned}$$

That is to say $\|\Phi y\| \leq \|y\|$ for $y \in K \cap \partial K_R$. From theorem 3 that Φ has a fixed point $y \in K \cap (\overline{K_R} \setminus K_r)$ and $y(x)$ is the positive solution of integral equation

$$y(x) = \int_0^1 G(x,s)h(s)f(y(s)) \, ds \tag{3.2}$$

Because $y(x)$ satisfies (3.2), we obtain

$$y^{(i)}(x) = \int_0^1 \frac{\partial^i G(x,s)}{\partial x^i} h(s)f(y(s)) \, ds$$

furthermore

$$y^{(i)}(0) = \int_0^1 G^{(i)}(0,s)h(s)f(y(s)) \, ds = 0, 0 \leq i \leq k-1$$

$$y^{(j)}(1) = \int_0^1 G^{(j)}(1,s)h(s)f(y(s)) \, ds = 0, k \leq j \leq n-1$$

From theorem 1 we get

$$\begin{aligned} (-1)^{n-k} y^{(n)}(x) &= \int_0^1 (-1)^{n-k} \frac{\partial^n G(x,s)}{\partial x^n} h(s)f(y(s)) \, ds \\ &= \int_0^1 \delta(x-s)h(s)f(y(s)) \, ds = h(x)f(y(x)) \end{aligned}$$

this shows $y(x)$ is the positive solution of nonlinear higher order $(k, n - k)$ conjugate boundary value problem (1.3), (1.4)

Acknowledgement: Project supported by Heilongjiang province education department natural science research item, China. (12541076).

REFERENCE

1. Yang B; Upper estimate for positive solutions of the $(p, n - p)$ conjugate boundary value problem. J. Math. Anal. Appl., 2012; 390:535-548.
2. Yao Q; Positive solution to singular $(k, n - k)$ conjugate boundary value problem. Mathematica Bohemica, 2011; 136:69-79.
3. Zhong M, Zhang X; Positive solution of singular perturbed $(k, n - k)$ conjugate boundary value problems. Acta. Math. Sci. Ser. A Chin. Ed., 2011; 31:262-272.
4. Yang B; Positive solution of $(n - 1, 1)$ conjugate boundary value problem. Electron. J. Qual. Theory. Differ. Equ, 2010; 53:1-13.
5. Jiang J, Zhang J; Positive solution for $(k, n - k)$ conjugate boundary value problem in Banach spaces. Nonlinear Anal., 2009; 71:723-729.
6. Cheung W, Wang PJY; Fixed-sign solution for a system of singular focal boundary value problems. J. Math. Anal. Appl., 2007; 329:851-869.
7. Lin X, Jiang D, Liu X; Existence and uniqueness of solution for $(k, n - k)$ conjugate boundary value problem. Comput. Math. with Appl., 2006; 52:375-382.
8. Jiang D; Positive solution to singular $(k, n - k)$ conjugate boundary value problem. Acta. Math. Sinica, 2001; 3:541-548.
9. Kong L, Wang J; The Green function for $(k, n - k)$ conjugate boundary value problem and its application. J. Math. Anal. Appl., 2001; 255:404-422.
10. Agarwal RP, Regan DO; Multiplicity solution for singular conjugate (n, p) problems. J. Differential Equations, 2001; 170:142-156.

11. Agarwal RP, Regan DO, Lakshmikantham V; Singular $(p, n - p)$ focal and (n, p) higher order boundary value problem. *Nonlinear Anal.*, 2000;42:215-228.
12. Agarwal RP, Wong FH; Existence of solutions to $(k, n - k - 2)$ boundary value problem. *Appl. Math. Comput.*, 1999; 104:33-50.
13. Agarwal RP, Regan DO; Positive solution for $(p, n - p)$ conjugate boundary value problem. *J. Differential Equations*, 1998;150:462-473.
14. Wong PJY, Agarwal RP; Singular differential equations with (n, p) boundary Conditions, *Math. Comput. Modelling*, 1998; 28:37-44.
15. Eloe PW, Henderson J; Singular nonlinear $(k, n - k)$ conjugate boundary value problem. *J. Differential Equations*, 1997; 133:136-151.
16. Eloe PW, Henderson J; Positive solution for $(n - 1, 1)$ conjugate boundary value problem. *Nonlinear Anal*, 1997; 30:3227-3238.
17. Aris R; *Introduction to the analysis of chemical reactions*. Englewood Cliffs, NJ: Prentice- Hall, 1965.
18. Agarwal RP, Grace SR, Regan DO; Semipositone higher order differential equations, *Appl. Math. Letter*, 2004; 17:201-207
19. Su H, Wei Z; Positive solution to semipositone $(k, n - k)$ conjugate eigenvalue problems. *Nonlinear Anal*, 2008; 69:3190-3201.
20. Ma R; Positive solution for semipositone $(k, n - k)$ conjugate boundary value problem. *J. Math. Anal. Appl.*, 2000; 252:220-229.
21. He X, Ge W; Positive solution for semipositone $(p, n - p)$ right focal boundary value problem. *Appl. Anal.*, 2002; 81:227-240.
22. Su H, Liu L; The solutions for semipositone $(k, n - k)$ conjugate eigenvalue problems. *Acta Math. Sinica*, 2015; 58:261-270.